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                                            SECTION A 1 

1 (c) Atmost 2 1 

2 (a) k=10 1 

3 (c) (0, 0) 1 

4 (a) 3                       1 

5 (c) 2                      1 

6 (d)π 1 

7 (b) quadratic              1 

8 (d) 9π cm2 1 

9 no change       1 

10 (b) 4       1 

11 (c) √5/2 1 

12 (a) two cones and a cylinder 1 

13 (b) 25 1 

14 (a) 22/46 1 

15 (b) 50° 1 

16 (c) 45° 1 

17 (d) Cyclic Quadrilateral 1 

18 (A) 
 

 
          1 

19 A) Both assertion (A) and reason(R) are true and reason (R) is the 

correct explanation of assertion 

1 

20 D)Assertion (A)  is false but reason (R) is true. 1 

                                            SECTION B  

21 Let two points be A (x₁, y₁) and B(x₂, y₂). P (x, y) divides internally the line 

joining A and B in the ratio m₁: m₂.    

Let  x₁ = - 1, y₁ = 7, x₂ = 4 and y₂ = - 3, m = 2, n = 3 

By Section formula, P (x, y) = [(mx₂ + nx₁ / m + n) , (my₂ + ny₁ / m + n)] –(1) 

By substituting the values in the equation (1) 

 x = [2 × 4 + 3 × (- 1)] / (2 + 3) and y = [2 × (- 3) + 3 × 7] / (2 + 3) 

 

 

 

 

 

 

https://www.cuemath.com/algebra/equation/


x = (8 - 3) / 5 and  y = (- 6 + 21) / 5 

x = 5/5 = 1 and y = 15/5 = 3 

Therefore, the coordinates of point P are (1, 3). 

1 

 

 

 

1 

22 i)Total number of outcomes =36 

The favorable outcomes are= 

[(2,2),(2,4),(2,6),(4,2),(4,4) ,(4,6),(6,2),(6,4),(6,6)] 

Total number of favorable outcomes=9 

Probability of getting doublet =6/36=1/6 

 

ii) Favourable outcome = {(1,6) (2,5) (3,4) (4,3) (5,2) (6,1)} Number of 

favourable outcomes = 6 

Number of possible outcomes = 36 

Probability = number of favourable outcomes / number of possible outcomes 

Probability of getting a sum of 7 = 6/36=1/6 

Therefore, the probability of getting the sum of 7 on the dice is 1/6. 

OR 

Probability = Number of possible outcomes/Total number of favorable 

outcomes. 

P (E) + P (not E) = 1 

Number of red balls in a bag = 5 

Number of white balls in a bag = 8 

Number of green balls in a bag = 4 

Total number of balls = 5 + 8 + 4 = 17 

(i) Probability of drawing red ball = 5/17 

(ii) Probability of drawing a green ball = 4/17 

Let the probability of not getting a green ball be P (not E) 

P (not E) = 1 - P (E) 

= 1 - 4/17=13/17 
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1 

 

23 HCF (a,b)×LCM (a, b) =a×b. 

9×LCM=306×657 

LCM=306 X 657/9  = 22338 

 LCM of 306 and 657 is 22338 

                                                         OR 

2 

 

 

 

 



Prime factorization of 144, 180, and 192 is (2 × 2 × 2 × 2 × 3 × 3) = 24 × 32, 

(2 × 2 × 3 × 3 × 5) = 22 × 32 × 51, and (2 × 2 × 2 × 2 × 2 × 2 × 3) = 26 × 31 

respectively. LCM of 144, 180, and 192= 26 × 32 × 51 = 2880. 

Hence, the LCM of 144, 180, and 192 by prime factorization is 2880. 

 

 

2 

24 

 

so 

                          

               
= 67/12 

 

1 

 

 

 

 

 

 

 

1 

25 Distance Formula = √[( x₂ 
- x₁ )2 + (y₂ - y₁)2] 

Q (0, 1) is equidistant from P (5, - 3) and R (x, 6). So, PQ = QR 

√(5 - 0)² + (-3 - 1)² = √(0 - x)² + (1 - 6)² 

√(5)² + (- 4)² = √(- x)² + (- 5)² 

By squaring both the sides, 25 + 16 = x2 + 25 

x = ± 4  

 

 

 

1 
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 SECTION C  

26 Full marks for correct proof 
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https://www.cuemath.com/geometry/equidistant/
https://www.cuemath.com/geometry/square/


27 in ΔABC      DE || AC 
BD/AD = BE/EC .........(i)  
In ΔABE         DF || AE 
BD/AD = BF/FE ........(ii) 
BD/AD = BE/EC = BF/FE 
Thus, BE/EC = BF/FE                                      
                                                      
                                                            OR 

In △ABCand △AMP  

 

   1
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28 first number x. Then, the second number is x + 2 
x(x + 2) = 143 
 
x2 + 2x - 143 = 0 
 
x = 11, x = -13 
11 and 13 
-11 and -13 

½ 

½ 

½ 

½ 

½ 

½ 

29 

 

 

1 

 

1 

 

 

 
 

 

 

 

½  



 

30 Correct proof 3 

31 i) Length of the Arc = θ/360° × 2πr 

= 60°/360° × 2 × 22/7 × 21 cm = 22 cm 

ii)Area of the sector, AOBP = θ/360° x πr2 

= 231 cm2 

                                                                 OR 

Area of the sea over which the ships are warned 

= Area of the sector. 

=2/9×3.14×(16.5)2 km2 = 189.97 km2 

 

 

 

 

1½  

 

 

 

 

 

 

1½  

 

 SECTION D  

32 (a) (i)Let the present age of Nuri = x 
And, the present age of Sonu = y 
x - 3y = -10 ... (i) 
 x - 2y = 10 ... (ii) 
 age of Nuri = 50 years and age of Sonu = 20 years. 
 

(ii) x+y=180……(i) 
 
 
x−y=18……(ii) 
x=99,y=81 

                                                       OR 

x + 2y = 3 ....(1) 2x - 3y = -8 ...(2) 

For Equation (1) x + 2y = 3 

X 0 3 

 

1 

1 

1 

1 

 

1 

 

 

 

1
 

 
 

 



Y  1.5 0 

 For Equation (2) 2x - 3y = -8 

X 0 -4 

Y  2.67 0 

  

Solution x = -1 and y = 2 

Area =  7 square unit 

1
 

 
 

 

 

 

 

 

1 

 

1 

33 (a) (i) correct proof 
(a) (ii) correct proof 
 

 

OR 

Given, XY & X'Y' are parallel 

To prove: ∠ AOB = 90∘ Const. : Join OC. 

 
Proof : In △ OPA and △ OCA 
∴△OPA≅△OCA(RHS Cong Rule) 
Similarly, △OQB≅△OCB 
∠POQ=180∘(Straightangle) 

∠1+∠2+∠3+∠4=180∘ 
 

∠2+∠3=90∘ Hence, ∠AOB=90∘ 

2 

3 

 

Fig 

1 
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34 

 
h=x√3  

h/(80–x)=√3  

x=60 
80–x=20 
H=20√3 

Fig 

1 

 

1  

1 

1 

 

1 



35 Median = l + [(n/2 - cf) / f] × h 

   

N=60 

45 + x + y = 60  x + y = 15 .....(i) 

28.5 = 20 + [(60/2 - (5 + x))/20] × 10 

x = 8    y = 7 

                                           OR 
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                                          SECTION E  

36 i) d = 200 & a = 1200 

ii) t12 = 3400 

iii) Sn = n/2 [2a + (n − 1)d 

S10 = 5 x 4200 = 21000 

         OR 

Sn = n/2 [2a + (n − 1)d] = 31200  

n= 13 

1 

1 

2 

37 (i)- ∆ABM and ∆CDM,    AA Criterion. 

(ii)  3cm 

(iii) 18cm 

                OR 

600 

1 

1 

2 

38 (a) 4.71m2  

(b) 1.57 m2  

(c) 0.0924 m2  

                      OR  

2.64 m2 

1 

1 

2 

 


